General instructions:

The second homework is individual and the variant is determined by the student's date of birth(example: db=22,=12,=2 => option 2). There are two homework assignments, they must be completed and documented in full. The algorithm creation tool can be UML or some other diagram editor. The algorithm does not have to be very detailed, but the connections of the subprograms must be given (the connections can also be given when describing the subprograms in the report or in the code). At least three subroutines must be used in the second homework. For verification, the report, the program code and a screen copy of the solution example must be sent as one document to vladimir.viies@gmail.com
===========================================
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Option 1

Write an algorithm and its jointly corresponding program by which:

1. the integer number of elements of array A n (1 <n <10) and real-number elements of array A and positive scalar k are entered from the keyboard;

2. the two-dimensional real number array (matrix) B with row length k is formed from the elements of array A, while the "missing" elements in the last row (if n is not a multiple of k) are zeroed;

3. the array B is displayed (output to the screen) row by row.
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Variant 2

Create an algorithm and a jointly corresponding program by which:

1. real numbers are entered from the keyboard a, b and ( (0 < ( < 1);

2. a real number ara C with elements ci is formed:

c1 = (b-a)/2,

c2 = (b-a)/22,


. . . 

cn = (b-a)/2n,

 where array C the number of elements n either satisfies the condition (cn – cn-1 ( (  (  or  (if this condition is not satisfied) n = 15;

the number of elements n of the array C and the elements with their indices are displayed (output to the screen).
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Option 3

Write an algorithm and its jointly corresponding program by which:

1. the text line S (up to 25 symbols) and the symbols c1 and c2 are entered from the keyboard;

2. a text line T is formed from the symbols of line S, from the first symbol c1 to the last symbol c2;

3. the line T and its length l are displayed (displayed on the screen).
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Option 4 
Write an algorithm and its jointly corresponding program by which:

1. a two-dimensional array (matrix) A is entered from the keyboard

      integer numbers of rows and columns n and m (1 <n and m < 10) and by the rows real number elements;

2. the two-dimensional array (matrix) B is entered from the keyboard

      integer numbers of rows and columns k and l (1<k,l<10) and by row

      real number elements;

     3. array C is formed – the sum of arrays A and B;

    4. the array C is displayed (output to the screen) row by row.

NB! Choose min(n,k) and min(m,l) as the dimensions of array C.
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Option  5

Write an algorithm and its jointly corresponding program by which:

1. the integer number of elements of the array A (1 < n < 20) and the real number elements of the array A are entered from the keyboard;

2. among the elements of array A, the one whose value differs minimally from the arithmetic mean of the elements of array A is selected;

3. the found element is displayed (displayed on the screen) with indexes.
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Option 6

Write an algorithm and its jointly corresponding program by which:

1. real numbers are entered from the keyboard x and (   (0 < ( < 1);

2. real numbers array with Y elements is formed
y0 = 1 ,

y1 = x ,

y2 = 5/8 ,

y3 = y1/2 + 3/4 y0,

y4 = y2/2 + 3/4 y1,
. . . 

until the number of elements k of the array Y either satisfies the condition 
(yk – yk-1 ( (  (  or (if this condition is not satisfied) k = 15;

3.  the number of elements k and the elements of the array Y are displayed (output to the screen) with indexes.
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Option 7

Write an algorithm and its jointly corresponding program by which:

1. the integer number of rows and columns n (1 < n < 10) of the two-dimensional array (square matrix) A and the real number elements row by row are entered;

2. a real number array B is formed by dividing the elements of the array A by the diagonal element (with equal indices) of the same row;

3. the array B is displayed (displayed on the screen) row by row.
2. ülesanne

Massiivid

Option 8

Write an algorithm and its jointly corresponding program by which:

1. text line C (up to 25 symbols) and symbols a and b are entered from the keyboard;

2. an array of text lines S is formed, the elements of which are the sequences of  symbols   betweena and b;

3. the array S and its length l are displayed (output to the screen)
.
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Option 9

Write an algorithm and its jointly corresponding program by which:

1. the integer number of rows and columns n (1 < n < 10) of the two-dimensional array (square matrix) A and the real number elements row by row are entered;

2. a real number array B is formed by transposing (NB! see what it means) matrix A;

3. the array B is displayed (displayed on the screen) row by row.
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Option 10

Write an algorithm and its jointly corresponding program by which:

1. the integer number of elements n (1 < n < 20) of the array A is entered from the keyboard and the real elements of the array A and the positive scalar integer c

      (1 < c < 20);

2. Among the elements of the array A, the one whose value differs from the elements is selected from the arithmetic mean as a minimum;

3. the found element is displayed (output to the screen) with indexes.
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